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INSTRUCTIONS FOR CANDIDATES:

1. Answer any FOUR questions.

2. ALL questions carry equal marks.

3. Answer may be written in English or Hindi but the same medium should be followed
throughout the paper.
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1. Explain the economic problems of an economy? Why do these problems arise in an
economy? How does Production possibility curve help in explaining these economic
problems? (18.75)
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2. (a) What are the determinants of market demand and market supply?
(b) Find the equilibrium price and equilibrium quantity for the following demand and supply

functions:
Demand function. P=53-20Q
Supply function: P=5+3Q (10,8.75)
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3. (a) Differentiate price elasticity of demand, income elasticity of demand and cross
elasticity of demand.

(b) Due to increase in income of a household from Rs 20,000 to Rs 30,000 per month, the
Number of bus rides per month decreases from 150 to 50. Find income elasticity of
demand for the bus rides using average method. Comment on this income elasticity of
demand. (10,8.75)
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4. using suitable diagrams, explain the break up of price effect into income effect and

substitution effect for (i) a normal good and (ii)inferior good when price falls. (18.75)
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5. (a) What do you understand by average variable cost, average cost, average fixed cost and
marginal cost. Using appropriate diagrams, illustrate the relationship among average
variable cost, average cost, average fixed cost and marginal cost.

(b) Calculate total variable cost, average fixed cost, average variable cost and marginal
cost at each level of output from the following table:

Output 0 1 2 3 4 5 6 7 8
Total cost | 50 | 65 75 80 | 86 | 94 | 105|120 | 140

(10,8.75)
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6. (a) Describe equilibrium conditions of a firm under perfect competition in the short run and

long run.
(b) Describe the equilibrium condition of an increasing cost industry under perfect
competition. (10,8.75)
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